Backward heat equations

Black-Scholes equation - Wikipedia https://en.wikipedia.org/wiki/Black%E2%80%93Scholes equation A random walker on R with stepsize E>O every time interval z>o, starting at x e R, at time t E [0, T]. location y E R at time T. Upon arrival the walker collects a reward f(y) where $f: \mathbb{R} \to \mathbb{R}$ is given. Let u(x,t) = average reward over all randomizedles starting at $x \in \mathbb{R}$ and at time t $\frac{y}{z} = f(y) + \frac{x-z}{z}$ $u(x, t-\tau) = \frac{1}{2} \int u(x+\epsilon, t) + u(x-\epsilon, t)$ $\frac{u(x_1t-z)-u(x_1t)}{z} = \frac{1}{2} \frac{u(x+z_1+z)-2u(x_1+z)+u(x-z_1+z)}{z^2}$ Let $\varepsilon \rightarrow 0$, $\tau \rightarrow 0$ with $\varepsilon^1 = 2 D \tau$. Then you get $\frac{\partial u}{\partial t}(x,t) = D \frac{\partial^2 u}{\partial x^2}$ This is a backward heat equation. "final value problem" u(x,T) = f(x) is given. ϵ Relation between forward and backward heat equations Consider U(x,s) = u(x,T-s) (t=T-s)(t = T - s) $\begin{cases}
\frac{\partial v}{\partial s} = D \frac{\partial^2 v}{\partial x^2} & \text{ocscT}, x \in \mathbb{R} \\
\frac{\partial v}{\partial s} = f(x) & x \in \mathbb{R}
\end{cases}$ Then v(x,s) satisfies $\frac{1}{2} = t \qquad =$ $\frac{\partial v}{\partial s}(x,s) = -\frac{\partial u}{\partial t}(x, T-s) = +D \frac{\partial^2 u}{\partial s^2}(x, T-s) = D \frac{\partial^2 v}{\partial s^2}(x, s)$ v(x, 0) = u(x, T-0) = f(x)______

Accounting The 1

Reduce to standard heat equation by substituting

$$u(x,t) = v_{1}\left(\ln(x) + Dt, t\right) \quad (\xi = \ln x + Dt) \qquad x - n (it i) x$$

$$-\frac{\partial u}{\partial t} = -\frac{\partial v}{\partial t}(\ln(x) + Dt, t) - D\frac{\partial v}{\partial \xi} \qquad = \frac{\partial v}{\partial \xi}(\dots) \cdot \frac{1}{x}$$

$$\frac{\partial u}{\partial x^{2}} = \frac{\partial v}{\partial \xi^{2}}(\ln x + Dt, t) \cdot \frac{1}{x^{2}} - \frac{\partial v}{\partial \xi}(\ln x + Dt, t) \cdot \frac{1}{x^{2}}$$

$$x^{2}\frac{\partial^{2} u}{\partial x^{2}} = \frac{\partial^{2} v}{\partial \xi^{2}}(\xi, t) - \frac{\partial v}{\partial \xi}(\xi, t)$$

$$\begin{array}{rcl} & & x \rightarrow & (|\pm 1) \\ & & & \\ & & & \\ & & & \\ & & & \\$$

S.

$$= \int_{\frac{\partial f}{\partial x}} (\xi' + f) = D \frac{\partial \xi_{z}}{\partial z_{x}} (\xi' + f) = D \frac{\partial \xi_{z}}{\partial z_{x}} (\xi' + f) = D \frac{\partial \xi_{z}}{\partial z_{x}} = D \frac{$$

$$= \frac{\partial V}{\partial t}(\xi,t) = D \frac{\partial V}{\partial g^2}(\xi,t) - \frac{\partial V}{\partial g^2}(\xi,t)$$

$$= \frac{\partial V}{\partial t}(\xi,t) = D \frac{\partial V}{\partial g^2}(\xi,t) - \frac{\partial V}{\partial t}(\xi,t)$$

$$= \frac{\partial V}{\partial t}(\xi,t) = \frac{\partial V}{\partial g^2}(\xi,t) - \frac{\partial V}{\partial t}(\xi,t) - \frac{\partial V}{\partial t}(\xi,t)$$

$$= \frac{\partial V}{\partial t}(\xi,t) = \frac{\partial V}{\partial g^2}(\xi,t) - \frac{\partial V}{\partial t}(\xi,t) - \frac$$

t unchanged =) 0 < t < TTo find $v(\xi,t)$ we need to know $v(\xi,T)$: $v(\xi,T) = u(x,T) = u(e^{\xi-DT},T) = f(e^{\xi-DT})$ f $\xi = lnx + DT$ $\xi = lnx (=) x = e^{\xi-DT}$